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INSTRUCTIONS — .oyflayennser
Part — A (General Knowledge) and 60 questions in Part — B

;mr“\ G :@h UMM A pentn 23 19 b1 2018

| This question paper contains 110 questions In
(Psychology related “uh]f‘{.lb)

avenr ha el oot gt Qe epfalld 110 afew 1dnpmid (DD D o araflureh @HIDRBELT LimL midel &)

_: &

60 affexrrdm @y 8 sirarant

2 The type of question paper (A, B, C or D) Should be shaded in the answer sheet using blue or black ball point pen.
aper will not be evaluated.

The answer sheal without shading the type ol quastion p

@ hsafongharalaramn: senus (A, B, Cor D) afem ganall b o (eshit_ e (L AR Banb (pedensl) S ) £n Led cpmulen

Qurarrenar G aresu(® srupM Ve e R ayih, ater w.r.:i‘.ar aremgens e B pafil e asd, oibs aami gen Tt
R O T T

3 Write the Enrollment number using blue or black ball point pen at the appropriate box in lhe answer sheel.

avent satabe, feouk (e ) montey An cinet Lo Guenaamand Qanen(y Baddena erennenanyr D% Au e ARy

sttp R, TSI @n & apd
1 Answer all the 170 questions. 170 Oasalseyd @i aflant_walldas Garess (Nh.
aDdath epan 1 10RIGN e auppma (b,
the relevant circles using blue or black ball point pen.
3 e renaud QAT (R bk bh @il drmaleb L e Bl apt

5. Each quostion carries half a mark. gaiGanicy Gl
§ The answers to the questions should be shaded in
oS e aemar Ravth (coyerm) anong ot et prruilaine” ¢

7 For each question only one answer is to be chosen and shaded.
Rt aph

...1.r-..~p arrar .). =15 arene anur et ip,r\ou\:rl el

8 For wireng and wpmprr shading, no marks will be given.
sounts et Bt enrBan, sy pse Bods s QadimaGan SBs Caeralli @ 10 OGN U et wagr.

Write the Enrollment No. in the question paper. Gaidens srairae Gusiraddprafldd erpmaid.

10. Write the SI. No. of the OMR answer sheot in the question paper at the appropriale place

- & ‘ i .
OMR ata daaaf e erasranenr Gaairal 4 arellst "Trlp;ﬁg‘u[b,

{1 I there is any printing error, or error in Page No. in the question paper, the same should be brought to the notice of

the Invigilator immediately.
o oy aflend gl G agayih o dant’t RengpGuir, 11 il
sflarraxr Gorairafd 5 0man Gunmr Qsmeinsin 1l S Moy pib; OGS

12. All the questions are bilingual except language questions (English and Tamil).
AL UGB (i Red oppiih pifp) Bachallaenen weflids oarpy Gacradsenih @uew® ®

ayneir arflurns @.ﬂ'wamﬂt‘_. _aBaa, Gopt rdenanu et Gremu G

Ouotfier s gy

Qa9 e (R ETTSITENT,
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: et PART - A : General Knowledge
; 1 qpﬁ”@mu sRwnas) z_‘ﬂmgzi&@g,jg
A} HD + prgroy B) ypth + preu@ + Ml
c) YUpih +preymy D) uyp + pren + BIDI

UJTﬁUGumrL._ s16im Olencvedlen GLblpndsLDd eTesTenr ?
A) SGH8I® B) euysfFL®
e ———— D) upmiEsr (B

O
. 3. @@Uﬁﬂ’w g{rgmnmrl_q_m @) eva & oMILDEVITFS & (S mﬂ&@l—L—"“” wii
e Tk B,) urrg@g;n&aﬂ'
C) !’5”113556%13 assﬁ}@f‘r D) eunenflgnasst

4. G?arqus @@Gm’u‘ﬂ&}ﬂﬂm ‘CUITHSALD’ 615 9
A) Gampn ¥ B) wuneswgwismevid
C) LIGYGURUIT STeuLD D) Gaoi smevibd

9. ‘BLiipagBer Caur aveuis’ starls Lmgm L1 Quppeud w0
A) unE®snsen B) swugnser
TG D) worgwosesr

B. smb Quipslu @i s@58 @8 ST @)L QU 611 9
A) a@snaflwuid B) 5mu5m__a;m

. 6 B) Gﬁgmrr@cvﬂeurr
C) g@mar Ga;ggnu;&s errrmh@:ﬂmnﬁ D) sevwewrg naei

8. ‘Blw Bmauy’ sTaTmenpsaiLI(p e qurrr?
A) s@Le B) o

C) afL_ewrew .D) @gn

9. G‘lpj@!ﬁ@ﬁjﬂﬂﬂéﬁ 6T GMILII L LILBID Hrev 615 9

_ b) ymsneymm
C) @,ggjgﬁmma; D) ulum_ e

0. @mmw emma;m azrrcamy@sv 6TaHTgY) LD Salensd @g’,n@uq mieSlah
W ) SIaAUTIS B) eunenllsgnass

B) I g omen

BERWH wip o
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. gelect the lymphoid organ which bacomes atrophy after pubarty,
N Thyrousy B) Spleen G) Lymph node D) Poyor's paiches

RO B8 (R vt arafled B dminenth el o preni ‘--"'#-'*tﬁﬁ)g,cg}
A) @nipgen B) toadvrenliah ) ;ﬁleua!;F!}w'w-""ﬁ L) mniﬁb;'_@mh

¢+ Chernobyl Nuclear disaster occurred in

|

A) Bhopal B) J“p“n l)) Iran
Seidar e NS @l r_.%_.-g,; [hani @ (@ th
A) Guiiame B) wt'um»"n C) gewun D) rrarmran

<A) Lithium batte B) Aluminium balterios

C) Alkaline batteries D) Nickel ion battories

13. Most of the altlftunl pnm,nmkom run on

Qugstburnsienownar Qaumea GrievGindaiaeiled L1u1e TR NN TN TR T
atlenFd
A) OFRund G’ _Maeir B) .oyaNaluit @Brn’ 1 Meaair

. . % g - . - L) . i} i P
) HNTHHOTENLID QT [hh Qi famen D) _uﬂa..-r,am ‘_wmmﬂ(um - Menair

14. The locomotary organ of earthworm is

A) Flagellum B) Cilia D) Penial setae

LWL ATV SASILILIOD @)t L1GN L 1u1id§) o _mILIL] el ?
A) saFudenip B) @mmlenev
@) o1 s megpt’ Feir D) 1faluied &1 n

15. The sex anomaly in man who has only 45 chromosomes in each body cell

's syndrome B) Klinefelter syndrome
C) Super female D) Super male

ioaflgefsr o1 Qasvadled 45 &CurnQronGambeaenL ot snewsriti(Gith LIMGD
Qars@

A) Liarfargan s C@Qaelliur® B) Heaerare®sGuehi_i@emen .6 GaralliLin@

C) o uMiiueiry Guewrsen D) 2 ufliisesiy gy, emaser

16. The vasopressin hormone deficiency leads to
A) Diabetes mellitus B) Tetany
C) Myxoedema

3 : ; .. ~tTa
3 ".ﬁ'rY_rJ_ e et

aunGevniravedesr ammiGionear gamalanned Canammd Gpmul
A) Lwrineev Quevedev B) @it 1 _aof

C) aedigiom B) e _wnQiieev @G&I@LWLGIFU
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17. Whatis g duration of ‘P’ wave in E.C.G. ?
A Tsecs B) 1.1 secs C) 1.2 secs

mﬂ'ﬁ’w@'&ﬁﬁu@& Cung 'P' yanevuflesr &nevpend|
e Sewmg B) 1.1 adewrnmg €) 1.2 aflewrmy

18. The antiviral dryc iven for AIDS is
A) Ampiciljin gg

D) 0.1 afenriiy

B) Anthromycin
D) Interferon

- endlay Cmmy

i G}Gn@&&[_}u@[b :éﬁrlg_@mfﬂ'd) HJ(EiIE@’ h‘l’{ﬁf 2
A) %wl}lﬂaagg = B) s @uneninGlevt
C) cﬂfaGgqmg,@qGﬁ, B) @ e ria%Glirnes

| 19. Which instrument is used to measure blood pressure in man ?

. =Phygmomano B B) Parameter

C) Haemocytometer D) Manometer
weflgeafle Q188 S wsssms sew_flu 2 GayLb s(mall 615 ?
A) RVTDF Te 1P CuwnBermBiL’ 7 B) vnmombi i

C) ,Gi_ﬂ?@mnsmm;GL_m.&;L_ri D) wonGermife’ it

20. Forthe first time in Independence India a non-congress ministry was formed under
the Ieadership of

A) V. P. Singh B) Narasimha Rao
C) Morariji Desaij D) A.B. Vajpayee
&S5 80 Q@)% B wnader SMRIG gav Jvawns AP & 60 DI UDFF TG GG () b GGV 6D LD
apmeurt
_, B) pudibio g
C) Qunagni o) Czenui D) &r.19. aunghuimi
21. The Widow FlemarrAg was passed in the year

A) 1846 ‘B) 1856 C) 1870 D) 1891
ailgemeusar LomoenT L _1_th Blenn Caumm i 94,657 (B)
A) 1846 B) 1856 C) 1870 B) 1891

~22. What is the minimum age of woman for marriage according to Saradha Act of 1930 2
A) 10 B) 12 Gy 147 D) 18
1930 g,er(® Fmosm 1Ly ClLicvira@ps @ GDODBS 111 B @H1oes WG 6145 o
A) 10 B) 12 C) 14 D) 18 $

23. Who constructed the Thar Road with hard surface in England ?
A) John Kay B) James Watt

Johr im, D) Elias Howe
@ES S Gl wrer Cuomuriys Qamedm ST Freneveny S LIy P
A) ggreir G B) Gegtbeiv qum” . 2

‘ €) soneir GlLo&s ML LD D) erelluineiv GamnGay
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24, In whlch year Rome-Berlin-Tokyo Axis was formed
3 x B) 1937 C) 1935 D) 1938

.. Gamb-@Uﬁﬂﬂﬁsf-G!_nas@Gwn D|FF CTHS ,:gbmf@ IOLDSHELIILL G ?
A) 1936 B) 1937 C) 1935 D) 1938

25. The sun appears to be the closest to the Earth on
‘A Ja B) July = 4

C)September -5 D) December — 4

@&Mwer yalld g s @& srawtLIL@LD BTET
A) sparau — 3 B) gom®—4

C) Qeltbui—95 D) g&bui—4

26. Who postulated the continental drift theory ?
A) Kober B) Holmes C) Taylor

ST paiay Q& TeTenseni QeueRu_L_cum
A) Gamuit B) Gammevibenw C) enL_GuiT

D) Qeusesi

27. A winding curve or bend in a river is called R
A) Ox-bow lake B) Flood plain 3) Meander
D6 euem Ty LODMILD Qpefey eTeueumn] cg;mgpasasuu@@rrpgj 2
A) GBL® 20 B) Qaueirené gobleuad]
C) whwnmessre_iv D) o wpenest

28. The first Earth Day was celebrated in - |
A) United Kingdom /B) United States 7
C) lIsrael D) Sierra Leone

D) Levees

s yail prer Qe resrm_Lit pr®
K) 256w Y75 B) @QioMés s BrEser
C) @avGrev D) Swngm eSGuwimesr

29. Jhum cultivation is practised in which state of India ?

A) Tamil Nadu  B) Odisha C) Kerala
o1b sn@ LI @B wrelley a15s LomFlvs Sl BeOL_(Lpem DUV 2 TeTS!
A) slpBI® B) qu&r C) Gaparm D) oysmb
30. Economic Growth is measured in terms of
A) Population Growth B) Human Development Index
C) Gross National Happiness /D) Real National Incom
Qunmemsrreueniss 6156 g LiLianL ey cg;maﬂx_uu@@mg{ 2
A) wéasar Qgrend e B) weflg cueris®d @pui®
C) QuwnssBsw w&psH D) o ewmeniowimes Gs&w QU(HLOTGIILD
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Moo, igan upWé_rd movement of an employee's: D) Training

AR ' N emotion C) Transfer - A,
£ % . 1-.19.681 6D 2.wp® e

—————__ eTsirLg) s @geuesHeb oerySluit BlepeoiiLit
HNpSGI6 Qacbaugn@ib.

A Cpaia ey BY Lised @i C) @i wmppts BI LT

. _‘-..-I.I:r-__.-':_.. ‘:A i p ..‘. . -:' 3 : : Ie
)2 S ——_____is one who guides and directs other peop'®. .
A) Controller B) Organiser C) Sub-ordinate [B)Le ety
ol

3 : : i) Glru1&11esT
————___ ateeuit ompyeuisemar aufl s g5 Glacvais

A) @i ég) BL_SgLieurt B) wyentoriusmeni
C) sienemr R) semevaurt
nd if
,.33- A —_____isapromise (or) set of promises that are legally enforceable &
violated, allow the injured access to legal remedies.
A) Liability B) Contract 7 C) Record D) Evidence
0 . GTGTLIG] FL L L4iQUILDITS DLDGVLI(BHHT: G 19.US G‘”Hﬁ@m!@&d! ,gf@i)éivﬂjf
UTESDYBD G LEDLILIL 16D ST 5 HL§) F1° 1 ARHUNGTET 9 §OITnGVEIFENET
NS 2591055 @1b.
A) oi_crn() B) euiipsib
C) asewmp D) wysnomaser
34. A is an activity or benefit that one party can offer to another that is
essentially in tangible in nature.
A) Product /B) Service’
C) Goods and services D) None of the above
R aTairLg) Gl m_ QemanupLg.wing QawedLin® DIGO6VS! FETENLD Gp(HaUIT
LMD QU (155 ML ILIS TG LD.
A) alenenGlimmer B) wiqpgiimigged Gaenai
@) Gungs ser wmHmib Coamal D) @& e eiguayib @avanev
35. A Judge of the High Court shall hold Office until the age of years
jf B) 64 C) 65 D) 58 '
o wit Gwem FHUS QUUIG| QUEHT LIFET UG,
A) 82 AB) 64 C) 65 D) 58
/36. If the earth stops rotating, the value of ‘g’ at the equator will
‘A)-increase B) Decrease
Remain same D) Become zero
Lo gipehaigs .ﬁeir@aﬂt_’_r_ﬂab, Blavp ®&CHr_ B LGS ‘g’ eir &Iy
A) @B sLoMEGLD B) g@mujip
C) m;r;prrm@ﬂ@é@'-b D) sflunBeadGun
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38.

39.

40. URSA MAJOR is a

25

n bomb is based on the principle of
Hydroge e e C) Radio aciivity D). lonisatioh

A) Nuclear fission S NUCIE!

G631 (& GUOTLY. GIT BHGIOID

@amt- 182 '
A) sysspidas Lierenal B) igmiba Gaia
C) a;éi‘),_:ﬂwa'smh D) wweflwnssLd
The normal temperature of the human bOdySi; ;Faizd9;C4LsC
o o B) =] L

A) 100°F and 38°C ’ /
C) 98.4°F and 37°C D) 90°F and 40°C
el 2 1Sl sunah GQenliuplancy 2 m;ﬁgmb:c &® )
A) 100°F wopmyib 38°C B) 37°F wppitd 98;4 (

4°F 1) oF D) 90°F wommyib 40 C
re increases, the conductivity also increases ?

oz e R A (0
in which of the following as the temperatu
A) Insulators
C) Super conductors

G & GO L_ &1 D 1 GiT eTH e QauliLipleney 2
PslsSHetng ?
A) Blasrat_ggm GlLIm L GG
C) BssL 6T

B) sL_s@s6T
D) geonsL S s6T

A) Comet B) Galaxy
oyism GLoggi’ GIGTLIZ)
A) auned adlewride

BY alesbesr GLigeni

C) pL 58P0 Fnt L LD D) Gsnar
41. The field of view maximum for
A).Convex mirror | B) Concave mirror
C) Plane mirror D) Convex lens
unten L] LjeLh B HLOMS @) LIS
b ol g B) @) a9 C) swgen gy D) @l Qaveirav

42. Which one of the elements is extremely toxic ?

43,

A) Aluminium B) Gallium D) Indium
Baoyih paasHe1e010 QUMUIHE SELOLD
A) aahlaflun  B) Gsellusbd C) smedwib D) @ewmguwid

Which one of the following compound is used for preventing dental cavities ?

A B) SF, C) UF, B NaF

Bipasin_ a1 Gaiotd up@Gflenw FfCleuwL LwWETL (&S LILGEDS!
A) CaF, B) SF, C) UF, D) NaF
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. Bordeayy mixture is copper sulphate solution mixed with :
A) Potassiym hydroxide B) Sodium hydroxide :
G Camige ide D) Magnesium hydroxide

CUImiL_mggh e GTGTLIZ) 6TFGFTLOWHLD SALILIT gavGLL (LD SV

K) QU”QLn@wmm%Lgném.ﬁ@ B) Gemg.uitd WG.‘—"O'-.—U”‘%W?@ ®
C) sneb@y,; am L gr&en& @) D) QuéafPwib apL-JTs@s

2 &wmmwn@w

45. The catalyst yseq in the manufacture of polythene is

A-) n B) Vanadium pentoxide

-} T1anium tefrachloride # D) Molybdenum
unﬁﬂg’gsﬁéﬁwmﬂéaﬂ vwerL (b afleneTy,ss) 615 ?
A) @by B) QeuGangwib Quar_mE@F®)

C) @ nafluns Qi grgGermens® P) wnedli g.amb

48 Sodium benzoate is used as
A) SWeeteing agent B) Antioxidant

C) Fc eservative By Initlbiter

Gamg with @ush@&n(?mﬁ.w_si? LI W1 GT

A) @Gbﬂl_'.lqéa;mmgﬁ_l__ B) e1®it 94,58gGarmml
C) e ewey ungsmiune D) s®@liume

47. Hair and nail consists of

A) Cellulose B) Fat ) K D) Lipid
(Pl LoPMILD BSHmIselew o_drer Geu® 1IGLInm 6T
A) GeevgyGevran B) Gsmupliy S) Qapr’gasr D) &S 9

48. The compound used as hypnotic under the name “hypnone” is

A) Acetone /B) Acetophenone
C) Benzophenone D) Formaldehyde
‘anf) Ciesrrer’ eTgyyLh Gluwfed wGeamai@w w@ppsnsl uweaT@w Geiwib
A) 9@ Crnar B) 98 CLm%Casrmest
Q) 6 16T BFTLLTCGvrrraT D) obumimeig eam @
49. Oil of winte IS
7A) Methyl salic e/ B) Acetic acid
C) Phenol D) Acetone
‘S Gfer ereblawil e1aLIg)
A) QuH® Frad P Govl B) /91198 9pfleuib

C) oooﬁmnsb D) @;QI;GI_HG&I'



50.

51.

52.

N 9-

in cold countries ethylene glycol is added to water in the radiators of cars during
winters. It results in

A) Lowering of boiling point
) Reducing specific heat
@i GrBsanisei o_srar srisafley By Gui_ L’ Bif 2-TUTORD &F\dg; o1 P

Renenssne, GeissiL@SDI S (b flaor
B) un@iﬂmmmmé, & DES
D) g_smmﬁm@vmma' GODES

B) Reducing viscosity

A) QsTBh@mewawus GDDSS
C) Auww Qaiiugas GONSS

Which liquid is formed during guttation ?

/A) Pure water [ B) Water and mineral salts

C) Water and enzymes D) All the above

B aug sedler Guing 2 (BOUAEGLD HTaULD
A) giw B B) #i oppitb sesflo 2 Liysain Geiifs sl

C) i wppitb QrEser Geib53! B) Gupsmplu IHTSSID

Choose the correct answer :

Elements Functions
a. Molybdenum 1. Chlorophyll
b. Zinc 2. Methionine
c. Magnesium 3. Auxin
d. Sulphur 4. Nitrogenase
A)a-1,b-3,c—4,d-2 B)a-2,b-1,c-3,d-4
C)a—-4, Pja-4,b-2,c-1,d -3
shwnemaupenpLs CILITBGSSIS |
gaflioriser Liewfl&er
a. LomeSlLLg.GuTLD 1. udeFwIb v
b. sIBSHEIHD 2. Qg Guinasfa
c. GQuaeatFwLd 3. P
d. gavodou 4. e GyrnadlGawen
A) a-1,b-3,c-4,d-2 B)a-2,b-1,¢c-3,d-4
C)a-4,b-3,c-1,d-2 D)a-4,b-2,¢-1,d -3

W O




54.

55.

56.

57.

58.

53, The term chromasome was introduced by L S

. 1 .C) Baibian; D) Flemming

-10-

Idever :

A) Bridgeg

C) Lrebi9uremp B) oSifenibifms

itmus Paper i obtained from which Lichen ?

B . —
ontagnei / B) Cladonia rangiferina

C) Foliose Iice

iﬂjup_ﬂv SIS o1l yavdaalied @ wihsl OLpUILGHDSI
BIFVT Loressr@L_nHesf) B) GseGrnafluim gl QLB

C) CurIGuwnav encvaasar D) ®Mev GrL_mew eavdSHeT

D) Crustose lichen

Identify the Archaebacterium.
AJ Acetobactor B) Erwinia
C) Treponema

LIGITGU (56U GST6UD My 67T 618 2, TEHE LT 1ML

A) o8 C_nung_i B) eriaflesiwum
C) wAdiQGunaflion D) QugCarmunsie b

Urea biosynthesis takes place in

A) Kidney C) Blood D) Pancreas
w2 @meum@b @)L b

A) @mubosib B) sevaSped C) @usstb D) senemtwib

Which is the permanent method of birth control in female ?
A) Copper T B) Hormonal method

C) Vasectomy

G L1 GO (65 5 S TE¥T AaneuInat SBSH@L (PO 618] ?
B) apmiGneripeom

A) smourT

C) aungsL L D) quQusL L
Name the substance that stops mitosis at metaphase.
A) Endonuclease B) Transcriptase C) Ligase

e Qe dfgallar Gung Qavsamar EH B S1.L ST FIniss eaids

EOLOL_ L

2 gajaldl : : ;

Ay amgbnﬁgaﬁs’rﬂ(}ujaﬁ B) wonamen@AUGL e
D) sme@ s

C) aawGsev
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& Iﬂmmmlmﬂﬁ h traps h
45 h c Ps heat 20 times more than that of the carbon-di-

59, Th? Zanafie B) Ammonia oxide ig

D) Nitrous oxide

- a; n
;ﬂ 1 cgﬁ mFenL_ Al 20 LDLJ!':!@ .;9;@,?5: &% G)GUULF§GU’§ 5'(9@@]5 Gla;nm D
-0 @l

nff”
)Lﬁ& 567 B) o Gwresflum
)GFC ) el ogev g dama®
o TS ratio of iodine in thyroxine
g 0% 7 B) 65% C) 110% D) 55%
$ s Gﬂg)ggﬂw 2_eren 2 Guimg air 556095 1b
A) 70% E’) 65% C) 110% D) 55%

61. Enedy currency of cell is

p) AMP C) NADH, D) NADPH,
Qmmﬂm %r_r);psu 5 TGOS LI LD GIGUTLJQ]
A) AMP B) ATP 2) NADH, D) NADPH,

62 Thetype of phyllotaxy found in calotropls 1S _

A) Aternate Opposite ¢
C) C) Opposite superposed D) Temate '

RG] Q#9460 STGHTLILIHILD @)V 3 eLDAY
A) wippluileneowenLoay
) B) 767 @@ uIeHLO6-GDISS LOMIS G
ef afi @e@awwawe)- @GI QUINEH ) e LDBHSE @
D) apafleneuiientne

63. Lateral roots originate from

A) Rhizodermis  B) Endodermis “Pe D) Cortex
uss Geuriaseir @)oummladlbb3! Qg neTmIFeTm e
A) egGanGlriLblew B) 65Gsmev
C) Quildensg&er D) ympewfl
64. Ihe vitamin essential for blood clotting i
B) D C) A D) E
@U%w 2 B &G GCHE@aIUITET L L_LBlesT 6181 ?
A) K B) D A£) A D) E

65. ‘}U”Q sight can be corrected by using
A Concave lens-

| B) Convex lens
C) Biconcave lens

D) Flattened lens

g"’mJumrsmsugmw FAGFUIL L @SS BLD Glevésran 618 ?
B) @alGeeien

A)
g @@@b&m Qoveia D) sLemLwmer Glevaav
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p) Ottakuttar

ot 'A“m‘-’f aft asoll am -
- A) Bh an';igﬁf “ SrBgdhmiad C) Puglend
a?aGar mBus &St Er)rﬂturr 9 ';__ésa%t.éf'@ﬁ
A) “mzsm@m HWMB%” f—lﬁ:ﬁ%ﬁ@ﬂ” C) usGpsf P &
A) Khambojg ing g  C) Champa D) Annam
FLOS T Zallad T . ;
BbS @!.5@ i C) abum D) oeiesLd

A) an ’-DGunggm B) wfaflguwid

68. The commander of the South Indian expedition under Alauddin Kh
B) Qutbudin Aibak

ilji

A) _.A'aUddm Khilj

(L) Miallk Kafur 7 D) Jalaluddin Khilji x
AV Geir Geved arwgGe Cgeredssw v QuBUYSS QWU@”
@GBS

A) SievreyBar Hevgl) B) @suBeir @6us

CY wnedé gy D) spevngyBer Haved

69. The original name of Shahjahan was
A) Salim

D) Farid

C) Dara Shikoh

ap1esmestlair @) uim 6w

A) #6Sib B) @rigd
D) urfs

C) sromaf)sGam
70. The first railway in the wor!d was opened in 1825 in
A) Russia C) America D) ltaly

2 WG (Lpg 6D yuﬂsvurrmg 1825 gy1b e () Glgm_misLiii’ 1 gy
A) paywm B) @r&@enig  C) oQuwidar B) @ssmald

71. The longest rift valley in the world is
A The Narmada rift valley B) The African rift valley
C) The Baikal rift valley 7 D) The Rhine rift valley

s_ow&er 1H& har e Lenay1L16Tens s nd s,
A) mBiwgT LeTa ) LUGTNSS 1 S B) %urﬂaau LﬂGYTG],jLI ummggmg;@
€ ewussne LeTayLl LIGTNSSTEE D) ewgesr thenayis LIGTONTS B 163

Which of the following is the chemical weathering process ?

72.
Exfoliat'on B) Frost wedging

D) Thermal expansion

Lﬂmsu@mmm,mgﬂsv a18) CouBuiweh Oengay 9
A) ugiiy afiflesy B) s epuafl o ety

C) smiuGarmmpLd D) Geyiu aflfleuen_gev
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mgﬁw eﬂ’“’te sensi %

74.

75.

76.

77.

78.

79,

sing w :
- o snﬁ g@rned out at first with balloons in
i

A) C) 1860 D) 1862

‘jtpzb $edlab LIGIGT epavid 2O NG s 11
Ji;‘)uisga €) 1860 D) 1862
6 % Contnbutlon to global biodiversity is
" 5% C) 10% D) 12%
. T;ai”v o ULy umsmom uflev @) 5@ urraler UmgeLIL
m 6% B) 8% C) 10% D) 12%
et Tiger was launched in the year
) 1970 B) 1971 C) 1972
gipurl LeSlaait SmiIUsh G L 1b guibSsiuT L 66
X 1970 B) 1971 €) 1972 D) 1973

N Jgpandal in Tamil Nadu is known for

A B) Nuclear Energy
o aoiaf Energy D) Hydel Power Plant

e g‘ﬁ'ﬂ__lq_@ 2_GiTen @uugﬁgw a1 @)L_1b 18P @G LNTRSH L Quppg 2
A| 3TDDTEN %!D.D@ B) wigmibler summed
C 5MWwesH DO D) Qeutiu gmmev

Inindia 14 Banks Nattonahsed in the year

A) 1935 C) 1956 D) 1959
Gi5wnalley 14 eumISSET 61b5 S eRTLg.60 GSEMWIOWLDTESLILIL LT ?
} 1935 B) 1969 C) 1956 D) 1959

Monstary policy is controlled by
Aj Central Government B) State Government
¥ Caniral BARK D) Private Sector

e

Ui Qg msirendenil 2o BSHSIVS]

K e35u oy7m B) wnplev jo&

) @ aubI&) D) saflwnit grenp
The compulsory charge levied by the Government is
A Licence fees B) Glfts and grants
C] Lgan . ’

S erren NDeHCILELD eﬂ-_l__,w:g; 1 |_GUTLD 6TGSILI&) Ty i
" Ssnn05) B) Gougio opmitd Lo

C) - " By cum
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80. The father of Now Economics is Keyne®
¥ B) Marshall C) KariMarx D) o

;’)@m O eng g S pienss T e piaILGLAT M. Geir®
b e A, B) twniapev C) snyeb omide D) J. M.

81. Which country foliows the Presidential form of Government d
. — : D) S\mizel’laﬂ

A} India B) England Americ:
675‘% rs”LL’iLGU BHENGURIIT (LpemM DI IFMHIGID QurwcvLIBHF DS ? . sG]
@E@um B’r@m;ﬁwnrﬁfﬁj C) g{@lnrﬂ{};éfﬂ D) &Glﬂf__gﬂﬁv /P,

82. Which one of the following tax is not collected by the Corporation ?

A) Entertainment tax B) Taxes on vehicles

C) Property tax on lands D) Income tax

lesaumeuen QUMDY 6155 u LompBHITL_Fuiney UG aSlesLI u@m@@mm ?

A) Gaallgeng quf B) aunges aufl

C) Bleveur D) eu@Lonaur curl

83. L:bera{:sed economy was introduced in India in the year
A B) 2002 C) 1985 D) 1996

ST LOWLDTE GG @)pBwraley 6165 2, [ Clem1ess () QL gl ?
) 1991 B) 2002 C) 1985 D) 1996

84. Panchayat Raj was inaugurated on October
A) Lal Bahadur Sastri Ja
C) Ashok Mehta
LIGHFTIWSS] gmep 1959 b 9T (B &G BmIG6T 2 YLD BTenETM)
aflermed G1euSH DUESLILIL_L_F.
A) s FTavSil
£€) =Cans GLossn

2nd 1_959 by

D) indira Gandhi

B) geuamieney Gpp
D) @p@onsmp5)

85. The political head of the Corporation is

A) The Commissioner
C) Councillor

wrrgesgm__@uﬂmcg’w@“@’ FBNWI MG Heneveu T
B) @ymp pliains sgyeseur

D) Guowr

B) Village Administrative Officer

A) %G&?GUDTHJ”
CY o Denn



llllllfﬂlﬂHlI{IIMﬂIIIII! 15~
;t of gravitational constant (G) is
) qﬂ,ﬂ,i,j,” el G it S.l. e,
H;‘;\;gq"' B) Nmkg-! C) Nm?kg? D) Nm?kg™
f light emitted by Ruby LASER
_The colour O Yy Ruby ER is
87 T) o By Red ¥ C) White D) Yellow
l[;(ﬂuby) Gaver Sl g Qonefliiu @b gefufler Flpib
A) [ rend B) Nautiy C) Qauarenar D) wepser
ngm phOlOﬂ has

y !"1"?.‘ 1 ;Ws

88. =
A) BT era rest masg B) Both rest mass and energy
C) Rest mass but zero energy D) None of these
j}t,.,("um L_resr @)1 N TNGINTE S,
A) ) H}EDGU !Dn)n:}”.ﬁ éTl'[S) @Hlﬁl,’ fﬂmfn B) @”39{ ﬂmm LD‘{I')E)_”_E) %‘.ﬁﬂ)d’

Q) aua) plevm opmitd Hmed aiLf) D) @eeu a1gith @evaa
89. |f the focal length ofa concave lens is 4 metre, its power is
A) +025D > D C) +04D D) -04D
S0 GYCwaTHew @QS)UJQ@HJLD 4 18 arasfled GleveT@etr Hp e
A +025D B) —-0.25D C) +0.4D D) —0.4D
90. One calorie =
A) 4.186 J B) 1000 J C) 36x105% D) 107J
@@ &;Gsvmﬂ f‘fGtirngyj
[y 4186 oy B) 1000 o6 C) 3.6 x 10%9aD) 107 g 9a
g1. nght from the ' sun takes to reach the earth.
A) 8 minutes 20 secondsy B) 10 minutes
C) 4 minutes D) 5 minutes 20 seconds
@M el Lallenw cubgent_w @b GrILb
A) 8 Bifl_1b 20 allestmig. B) 10 Afl_ib
C) 4 dudhi_tb D) 5 fufi_1b 20 afesrmig
92. Base number of Hexa demmal number system is
A) 10 B) 16 C) 8 D) 2
Qamdasm G)t_@wsv GTGHT G'iaf.nr@r 19ed (Number system) oy 1ent_ eresar
A) 10 B) 16 C) 8 D) 2
93. One tesla =

A) Ampere-metre?
C) Ampere-turn metre™’

P O_svem GTGTLIG]

A) opb Qw8 B) Qeuwst
€} b Quir-ammy B L i D) Qa5 2



94.

95.

96.

m,m g

The va!u,a of one Astrenam!cal Unit (AU) is

A) 9.467 X 10'% m - B) 9.467 x 10 m
D) 3x108m

PO ey, g S&er (AU) wdHiy

A) 9.467 x 1015 m B) 9.467 x 102 m

€) 1.496 x 1911 D) 3x 10°m

When One gram of mass is fully converted into energy, its value is

AESRIOEIY ) 9x 107y C) 3x10°J D) 9x107J

QT @g;m) Blevpuyeiren Quingenens; (UPUPOISILONE SYDDEVTE oL GE D! e1éufley
SIS eT LD,@UL;

A) 9x 10 groa; B) 9x 100 gow C) 3 x 10° syoch B) 9 x 10 ggdab

The fuel used in nuclear power plant is
A) U-232 )= 235 C) Pu-238 D) Fe—59

ASULBGT 2_amevuich uwmu@gg,uu@m MG Limmer wing 9

A) U-232 B) U-235 €) Pu—238 D) Fe —59
97. Name the alloy used in Cigarette lighters.
B) CaO,
C) Magnesium alloy D) Pyrophoric alloy
FlsCly. upmeneuiunelsh LWSTLGSSLILG D 2. Bawrsd Sewanal
A) ey 2 Gavrsid B) CaO,
CJ GugafPuwib 2 Govnss sevenas D) euGrnGunis o Govrss sewenay

98.

g9,

The most penetrating radiations are
A) a-rays B) B-rays
D) All are equally penetrating

255 2ar(H)(FAYLD SETLOWEHL_ WL FFT
A) a-a@ir
B) B-s@i
C) y-85t .
D) yanesgiLd 10 290 () B6YLD FETLOU|aD L_1sGoT
The pH scale which is used to find hydrogen ion concentration was intro
A) Henderson  (B)NSOIENSan C) Debye D) Hucke]
aami 786 Gg;u_.'srﬂuﬁ?sur G?arrﬂ?mmas sew_pluls LweTu@w pH SIomad ey 5

! Lo
Wpepu@SPUT
A Qapeinioet B) Gamgeinsi  C) gl D) gpinc

duced by
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100.

101.

108.

104,

105.

The compound found in stony deposits in kidney is ”

A) Potassium oxalate B) Oxalic 8
= < ® '-4 11 -;,1

C) Potassium succinate D) fG4 DAIATEE

Amibrss He0alle) o sirar GouB LI GlLTHET . ‘
A) Qum i r&wib gy 55Gevr’ B) c%éw”@g& é;L{S‘lwm .
O Qur @b 559 Ceni" D) srevfuib SFEPL

Compound used as an anaesthetic agentis .

A) Methanol B) Diethyletne

C) Phenol D) Anlhne

IDW&E DG HHTHLI LiusesTL(hid G&FmpLd g

A’)’ @wgg)mﬂsv B) Gm!__@-rg)@@_)n'gn C) ooL?GbT!TGU D) c:?fGFHGBG&T
. Which one of the following reacts with glass ?

A) Hydrogen 1od|de B) Hydrogen chloride
=) Hydrogen fluoride D) Hydrogen bromide

sasnemmiguy a7 aflen ey Goud Gaiotb
A) 55)._”71—9'%607 9 Cuimenr_® B‘j m@pL_gggm @Gmnmg@
C) eami gggai ooLjeaheni(h D) emamL JgesT Ly Goreon®

Which element found cytochrome oxidase 7
A) lron B) Magnesium C) Zinc ~ D) Copper

el GL_m@Gomb 24, & GL_enied saesLiL(hLD H6sfLoLb
A) @uibLy B) OusatPuib €] g@issprsnd D) SmLOIgLD

Molecular formula for chlorophyll ‘b’.

A) C_H,,0,N,Mg (B) CH,,O.N,Mg
C) C.H,,ON ‘Mg D) C45H,2o N,Mg
Ligengwib D NG ppevdiagnm eumiiin()

A) C.H,,0.N,Mg B) C.H,,O,N,Mg

C) C_H,,0,N,Mg DY G H,ON;Mg

Age of a tree can be calculated by which branch 5

A) Dendroclimatology B) /Radio-carbon d

C) Dendrochronology D) Forensm

S sraursPer a2 0If) Qauruyid Siflay

A) wpssne Beeuilued B) 89 fwiss sMws sre 569686
C) wrau@wad RY s wawed



107.

108.

109.

110.

106.

Which mep, ers of _a‘.l'gé'; are called Red algae 7
A) Cthl’ophyceae i B) Phaeophyceae

D) Cyanophyceae

. " . b
Slauiy HWeog STeiTYY Sy pdsliL@LD LIRS eTh% U GLL & hie!

A) @@Wrr(sgqmu@ B) %GLGuinauié

C) GH{TGL.HGE)L_;@ D) ewewGarnen &)

Give _e"amme for aggregate fruit. ,

A) Ricinyg B) Oriyza D) Polyalthia
Beir 55&75‘5@ STRSHIHTL B H(55

A) MR esren, B) gagsn C) wevmLipth D) wneQuwncv@uim
Which type of inflorescences found in spike ?

A) 'Racemosa B) Cymose C) Mixed D) Special type
VLIS 6155 Lo@hsh euamassew Fmipssy)

A) QI8Bomen B) enaGomen E) sevliy D) &miiy euens

Maijor site for the synthesis of lipids

A) RoughER  BIISWGBIRER) C) Centriole D) Lysosome

Camupliy 2 HuSS eiowib 155 Claeh b evrearyy 5L 96 ENSETT ST R B DG
A) QergQertiuner etesaGL mSerns euenevLleiTered

B) euqpeuqpliunes ereanGLmAenrs auanav Veirameh

C) Gserg MCwnev

D) @a@snGemb

Father of Taxonomy
A) Bentham and Hooker B) Charles Darwin
C) Balbiani -

e s L1t 1gufledlen Shens w9
A) Quigth LODID A0 D5 B) emievai Lniefeir
C) unevJuwmenf D) sGureven SerGaruseny




